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1. BREEROI
(1) #BEINEE
ZmMEE 19,824, 155 19,447,975
ESEZHeE 19,824,155 19,447,975
HEESE 195, 000 195, 000
EXILE 19, 629, 155 19, 252, 975
EEIG 9,101, 100 8, 920, 900
Z: 1.917. 000 1.893. 000
ARFEERBEELEEZIAETHERSE 1,917,000 1,893, 000
(e Zs 5. 640, 000 5. 600. 000
1B R 58 A1) S B T AR 2 3, 840, 000 3, 800, 000
ZREHEB NG 1, 800, 000 1, 800, 000
HEXAEHEEHZ TN 1, 408, 000 1. 309. 000
REME =z 86. 100 88,900
) —REEFHHIRGE 50, 000 30, 000
HURAE 31,000 1,000
ZHWFIS 1,000 1,000
MR EE 30, 000 0
BEINEE 28, 956, 255 28,369, 875
(2) BEER
<SHBEEZE> 9.101. 100 8.920. 900
= 1,917,000 1,893, 000
ARFEERBEELEEZIAEHE 1,917,000 1,893, 000
RERBE 200, 000 200, 000
BISERE 200, 000 200, 000
HERE 54, 000 49, 000
ENRIS A& 50, 000 50, 000
B 500, 000 500, 000
B 913, 000 894, 000
S B 2 5. 640, 000 5. 600. 000
B R A S BT 3, 840, 000 3, 800, 000
E 3, 840, 000 3, 800, 000
MRS EEZRAEHE 1, 800, 000 1, 800, 000
BTy 1, 750, 000 1, 700, 000
BISERE 44,000 94, 000
HERE 6, 000 6, 000
HEXAEHERTERE 1, 408, 000 1. 309. 000
ARX G EHEZTERE 1, 408, 000 1, 309, 000
REXEE 50, 000 50, 000
BISERE 287,000 231, 400
HERE 30, 000 10, 000
RIS A % 100, 000 100, 000
S 412,000 400, 000
EE 529, 000 517, 600
RE 23 86,100 88,900
REMEEFXEBRZRE 86, 100 88, 900
BISERE 72, 000 74, 600
HERE 14,100 14, 300
N—REEFHMNER 50,000 30,000
)—REXER 50, 000 30, 000
REXEE 10, 000 10, 000
BISERE 23, 000 3,000
ENRIS A& 5, 000 5, 000
FEKEE 5, 000 5, 000
S 7,000 7,000
3] 11, 860. 000 11, 670. 000
% B 3R 2, 600, 000 2, 600, 000
BTy 5, 300, 000 5, 150, 000
EBHMATER 340, 000 330, 000
BEIELE 1, 700, 000 1, 620, 000
=& 50, 000 50, 000
REZEE 360, 000 360, 000
BISERE 450, 000 450, 000
HERE 100, 000 100, 000
ENRIS A& 100, 000 150, 000
FEKEE 160, 000 160, 000
S 500, 000 500, 000
REREE 150, 000 150, 000
HE 50, 000 50, 000




H FHE AEEFHE ® R

EEE 1.520. 000 1. 340, 000 180. 000
"B 1,500, 000 1, 500, 000 0
HBHFEL 2,100, 000 1,950, 000 150, 000
BERTER 240, 000 230, 000 10, 000
RBAIELE 700, 000 620, 000 80, 000

=B 150, 000 150, 000 0
REXEE 100, 000 100, 000 0
BIEERE 300, 000 300, 000 0
HEAHRERE 100, 000 100, 000 0
HERE 100, 000 100, 000 0

EN il S A 2 100, 000 100, 000 0
FEKHE 170, 000 170, 000 0

afaH 200, 000 200, 000 0
XInE 650, 000 700, 000 A 50,000

XL RBER 100, 000 60, 000 40, 000
ARNER 600, 000 650, 000 A 50,000
HEHARE 100, 000 100, 000 0

E-Eik 280, 000 280, 000 0

HE 30, 000 30, 000 0
REER 28, 481, 100 217, 930, 900 550, 200

ST M48 45 3 SR B AT = B R W 1 RAR 475, 155 438,975 36, 180
EREEE S 0 0 0
LAREERE 475,155 438, 975 36, 180

2. BENEROM
(1) #EE5uRat
EESMRAEE 0 0 0
(2 »ENER

wENERE 0 0 0
LR R IMERER 0 0 0

L —ARIERKBAEE IR AE 475,155 438,975 36, 180
—RIERMEHRAEES 31,851, 883 29, 780, 848 2,071,035
—RIEKBAEHRES 32,327,038 30, 219, 823 2,107, 215

15 ERRBA EE SRR D BT

L 25 7E IE R B EE R IR AR 0 0 0
EEERMENEES 0 0 0

EE ERMEHRES 0 0 0
ERMHERRES 32,327,038 30, 219, 823 2,107,215




